WRIGHT-PIERCE Sengineering a Better Environment

Rochester, NH Salmon Falls Road and Milton Road Water and Sewer Project No. 12928B

203 Commerce Way, Suite, 302, Portsmouth, NH 03801 Tel: 603-430-3728 Fax: 603-430-4083

					BIDDER'S N	IAME					BIDDER'S NA	ME	BIDDER'S NAME				
			D & C Con	struction Co.		dillo & Son	Jamco Exc	Jamco Excavators		n & Sons	N. Granese		Sargent Co		SUR Construction		
JANTITIES			Ī						I			-		_			
Item	Qty.	UNIT	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	
BASE BID																	
Common Projects																	
1 Mobilization and Demobilization	1	LS	\$250,000.00	\$250,000.00	\$210,000.00	\$210,000.00	\$325,000.00	\$325,000.00	\$400,000.00	\$400,000.00	\$210,000.00	\$210,000.00	\$555,000.00	\$555,000.00	\$270,000.00	\$270,000	
2 Furnish Temporary Field Office	1	LS	\$12,000.00	\$12,000.00	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000	
3 Erosion and Sedimentation Control (Right-of-way)	1	LS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$45,000.00	\$45,000.00	\$25,000.00	\$25,000.00	\$49,000.00	\$49,000.00	\$50,000.00	\$50,000	
4 Allowance: Uniformed Police Officers for Traffic Control	1	Allowance	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000.00	\$65,000	
5 Flaggers for Traffic Control	1,944	Hours	\$45.00	\$87,480.00	\$30.00	\$58,320.00	\$45.00	\$87,480.00	\$26.00	\$50,544.00	\$45.00	\$87,480.00	\$28.00	\$54,432.00	\$40.00	\$77,76	
6 Traffic Regulation and Control	1	LS	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$50,000.00	\$50,000.00	\$90,000.00	\$90,000.00	\$225,000.00	\$225,000.00	\$80,000.00	\$80,00	
7 Development and Monitoring of SWPPP	1	LS	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$11,000.00	\$11,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,00	
8 Allowance: Liquid Asphalt Adjustment	1	Allowance	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,00	
9 Removal and Disposal of Contaminated Soils	100	CY	\$75.00	\$7,500.00	\$0.01	\$1.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$75.00	\$7,500.00	\$150.00	\$15,000.00	\$100.00	\$10,00	
10 Furnish and Install Vinyl Fence	250	LF	\$38.50	\$9,625.00	\$40.00	\$10,000.00	\$36.00	\$9,000.00	\$40.00	\$10,000.00	\$25.00	\$6,250.00	\$40.00	\$10,000.00	\$25.00	\$6,2	
11 As-built Survey	1	LS	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$22,000.00	\$22,000.00	\$10,000.00	\$10,000.00	\$2,500.00	\$2,5	
ubtotal Common Project Items 1-11				\$518,605.00		\$468,321.00		\$616,480.00		\$733,044.00		\$558,230.00		\$1,045,932.00		\$611,5	
Roadway and Storm Drain			+														
12 Test Pit Excavation and Backfill	60	CY	\$25.00	\$1,500.00	\$85.00	\$5,100.00	\$50.00	\$3,000.00	\$30.00	\$1,800.00	\$25.00	\$1,500.00	\$75.00	\$4,500.00	\$40.00	\$2,4	
13 Clearing na dGrubbing (Roadway Areas)	1	LS	\$4,375.00	\$4,375.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	\$60,000.00	\$60,000.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,0	
Removal and Disposal of Pavement and Earth Excavation	18,550	SY	\$3.60	\$66,780.00	\$2.00	\$37,100.00	\$4.00	\$74,200.00	\$5.00	\$92,750.00	\$3.00	\$55,650.00	\$1.00	\$18,550.00	\$2.00	\$37,1	
15 Reclaim Pavement, 12-inch Depth	25,333	SY	\$1.71	\$43,319.43	\$6.50	\$164,664.50	\$1.50	\$37,999.50	\$1.25	\$31,666.25	\$3.00	\$75,999.00	\$4.00	\$101,332.00	\$2.00	\$50,6	
6* Milling and Removal of Existing Bituminous Asphalt Pavement, 1.5 inches Thick	4,200	SY	\$4.00	\$16,800.00	\$4.00	\$16,800.00	\$4.00	\$16,800.00	\$3.50	\$14,700.00	\$6.00	\$25,200.00	\$5.00	\$21,000.00	\$4.00	\$16,8	
Unsuitable Excavation and Replacement Beneath the	100	CY	\$24.00	\$2,400.00	\$15.00	\$1,500.00	\$35.00	\$3,500.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$45.00	\$4,500.00	\$20.00	\$2,0	
Roadway 18 Furnish and Install Crushed Gravel Aggregate Base	5,881	CY	\$26.00	\$152,906.00	\$22.00	\$129,382.00	\$35.00	\$205,835.00	\$30.00	\$176,430.00	\$25.00	\$147,025.00	\$42.00	\$247,002.00	\$20.00	\$117,6	
Furnish and Install Crushed Graver Aggregate Base Furnish and Install Hot Bituminous Pavement - Machine	7,401	Ton	\$72.00	\$532,872.00	\$80.00	\$592,080.00	\$67.00	\$495,867.00	\$72.00	\$532,872.00	\$75.00	\$555,075.00	\$85.00	\$629,085.00	\$75.00	\$555,0	
Furnish and Install Hot Bituminous Payement - Hand							·										
Placed Placed	1,022	Ton	\$150.00 \$7.00	\$153,300.00 \$1,400.00	\$150.00 \$14.00	\$153,300.00 \$2,800.00	\$140.00 \$12.00	\$143,080.00 \$2,400.00	\$150.00	\$153,300.00 \$2,400.00	\$80.00 \$10.00	\$81,760.00 \$2,000.00	\$150.00 \$20.00	\$153,300.00 \$4,000.00	\$100.00 \$10.00	\$102,2 \$2,0	
21 Remove and Reset Vertical Granite Curb	200	LF	\$7.50	\$7,500.00	\$14.00	\$14,000.00	\$12.00 \$12.00	\$2,400.00	\$12.00 \$15.00	\$15,000.00	\$10.00	\$10,000.00	\$20.00 \$18.00	\$18,000.00	\$10.00	\$10,0	
22 Remove and Reset Sloped Granite Curb 23 Furnish and Install Stop Bars	1,000 310	LF	\$1.75	\$7,500.00	\$14.00	\$542.50	\$12.00	\$3,100.00	\$6.00	\$1,860.00	\$6.00	\$1,860.00	\$5.00	\$1,550.00	\$1.50	\$10,0	
	22,300	LF	\$0.17	\$3,791.00	\$0.20	\$4,460.00	\$0.16	\$3,568.00	\$0.20	\$4,460.00	\$1.00	\$22,300.00	\$0.40	\$8,920.00	\$0.15	\$3,	
24 Furnish and Install 4-inch Wide Pavement Striping 25 Furnish and Install 2-inch Temporary Pavement Patch	15,998	LF LF	\$13.00	\$207,974.00	\$16.00	\$255,968.00	\$14.00	\$223,972.00	\$20.00	\$319,960.00	\$15.00	\$239,970.00	\$1.00	\$15,998.00	\$20.00	\$319,9	
Furnish and Install 2-inch Temporary Pavement Patch Remove Large Trees, Greater than 12-inch diameter	13,998	EA	\$750.00	\$3,000.00	\$1,000.00	\$4,000.00	\$750.00	\$3,000.00	\$1,000.00	\$4,000.00	\$1,500.00	\$6,000.00	\$800.00	\$3,200.00	\$400.00	\$1,0	
Remove Small Trees, 4-inch to 12-inch diameter	4	EA	\$550.00	\$2,200.00	\$500.00	\$2,000.00	\$475.00	\$1,900.00	\$250.00	\$1,000.00	\$850.00	\$3,400.00	\$500.00	\$2,000.00	\$200.00	\$1,	
Remove and Dispose of Stumps, Backfill, Loam and Seed	4	EA	\$250.00	\$1,000.00	\$600.00	\$2,400.00	\$250.00	\$1,000.00	\$250.00	\$1,000.00	\$650.00	\$2,600.00	\$400.00	\$1,600.00	\$300.00	\$1,2	
within Right-of-way	10	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
7 Tree Planting/Replacement Shrub Plantings/Replacement	10	EA	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		
31 Loam and Seed	5,735	SY	\$4.25	\$24,373.75	\$9.00	\$51,615.00	\$5.00	\$28,675.00	\$6.00	\$34,410.00	\$6.00	\$34,410.00	\$8.00	\$45,880.00	\$3.50	\$20,0	
	1	Allowance	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,0	
32 Landscaping 32A Furnish and Install 4-inch Underdrain	600	I F	\$20,000.00	\$16,500.00	\$35.00	\$21,000.00	\$20,000.00	\$12,000.00	\$20,000.00	\$12,000.00	\$35.00	\$20,000.00	\$18.00	\$10,800.00	\$20,000.00	\$5.4	
Remove and Disposal of Pavement and Earth Excavation	510	SY	\$3.60	\$1,836.00	\$2.00	\$1,020.00	\$5.00	\$2,550.00	\$5.00	\$2,550.00	\$3.00	\$1,530.00	\$1.00	\$510.00	\$2.00	\$1,0	
Ineligible for Funding Furnish and Install Crushed Gravel Aggregate Base -	310	SY		\$1,830.00		\$1,020.00	\$5.00	\$2,330.00	\$5.00	\$2,550.00		\$1,330.00	·		\$2.00	5 1,	
Ineligible for Fundng	110	CY	\$26.00	\$2,860.00	\$22.00	\$2,420.00	\$28.00	\$3,080.00	\$30.00	\$3,300.00	\$25.00	\$2,750.00	\$42.00	\$4,620.00	\$20.00	\$2,	
Furnish and Install Hot Bituminous Pavement - Machine Placed - Ineligible for Funding	300	Ton	\$72.00	\$21,600.00	\$80.00	\$24,000.00	\$67.00	\$20,100.00	\$72.00	\$21,600.00	\$75.00	\$22,500.00	\$85.00	\$25,500.00	\$75.00	\$22,	
Furnish and Install Hot Bituminous Pavement - Hand Placed - Ineligible for Funding	100	Ton	\$150.00	\$15,000.00	\$150.00	\$15,000.00	\$145.00	\$14,500.00	\$150.00	\$15,000.00	\$80.00	\$8,000.00	\$150.00	\$15,000.00	\$100.00	\$10,	
Furnish and Install 2-inch Temporary Pavement Patch - Ineligible for Funding	1,920	LF	\$13.00	\$24,960.00	\$16.00	\$30,720.00	\$14.00	\$26,880.00	\$20.00	\$38,400.00	\$15.00	\$28,800.00	\$1.00	\$1,920.00	\$20.00	\$38,	
ubtotal Roadway and Storm Drainage Project Items 2-37				\$1,328,789.68		\$1,571,872.00		\$1,374,006.50		\$1,562,458.25		\$1,386,329.00		\$1,383,767.00		\$1,352,8	

					BIDDER'S NA	AME					BIDDER'S NAM	ME	BIDDER'S NAME					
			D & C Const	ruction Co.	J.P. Cardillo & Son Jamco Excavators			John Lyma	an & Sons	N. Granese &	& Sons, Inc.	Sargent Co	orporation	SUR Con	struction			
UANTITIES																		
Item	Qty.	UNIT	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID		
SanItary Sewer			****		****	***	****	** -00 00	***	***	****	****	****		47100	****		
38 Furnish and Install 8-inch PVC Gravity Sewer Pipe	16 6,700	LF	\$110.00 \$76.00	\$1,760.00 \$509,200.00	\$85.00 \$150.00	\$1,360.00 \$1,005,000.00	\$100.00 \$95.00	\$1,600.00 \$636,500.00	\$85.00 \$100.00	\$1,360.00 \$670.000.00	\$115.00 \$296.00	\$1,840.00 \$1,983,200.00	\$102.00 \$142.00	\$1,632.00 \$951,400.00	\$54.00 \$81.00	\$864.0 \$542,700.0		
39 Furnish and Install 12-inch PVC Gravity Sewer Pipe Furnish and Install 6-inch Sanitary Service Connections		LF		,		. , ,				, ,		. , ,	·					
with the Right-of-way	2,130	LF	\$73.00	\$155,490.00	\$55.00	\$117,150.00	\$55.00	\$117,150.00	\$60.00	\$127,800.00	\$50.00	\$106,500.00	\$98.00	\$208,740.00	\$72.00	\$153,360.0		
Furnish and Install 12-inch Ductile Iron Gravity Sewer Pipe	252	LF	\$91.00	\$22,932.00	\$145.00	\$36,540.00	\$65.00	\$16,380.00	\$130.00	\$32,760.00	\$315.00	\$79,380.00	\$174.00	\$43,848.00	\$61.00	\$15,372.0		
ripe			1															
42 Furnish and Install Homeowner Option 6-inch Sanitary	1,000	LF	\$73.00	\$73,000.00	\$65.00	\$65,000.00	\$70.00	\$70,000.00	\$75.00	\$75,000.00	\$50.00	\$50,000.00	\$42.00	\$42,000.00	\$60.00	\$60,000.0		
Sewer Service Connections (outside of the Right-of-way) 43 Removal and Disposal of Asbestos Cement Pipe	100	LF	\$75.00	\$7,500.00	\$20.00	\$2,000,00	\$100.00	\$10,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000,00	\$30.00	\$3,000,00	\$20.00	\$2,000.0		
14		VF	\$325.00	\$107,250.00	\$375.00	\$123,750.00	\$350.00	\$115,500,00	\$315.00	\$103,950.00	\$275.00	\$90,750.00	\$300.00	\$99,000.00	\$260.00	\$85,800.0		
Furnish and Install 4-foot Diameter Sewer Manholes	330	VF	\$323.00	\$107,230.00	\$373.00	\$123,730.00	\$330.00	\$115,500.00	\$313.00	\$105,950.00	\$273.00	\$90,730.00	\$300.00	\$99,000.00	\$200.00	\$65,800.0		
45	50	VF	\$450.00	\$22,500.00	\$600.00	\$30,000.00	\$475.00	\$23,750.00	\$365.00	\$18,250.00	\$325.00	\$16,250.00	\$400.00	\$20,000.00	\$325.00	\$16,250.0		
Furnish and Install 5-foot Diameter Sewer Manholes 46 Furnish and Install Sewer Manhole Frames and Covers	31	EA	\$1,100.00	\$34,100.00	\$700.00	\$21,700.00	\$650.00	\$20,150.00	\$1,050.00	\$32,550.00	\$2,000.00	\$62,000,00	\$650.00	\$20,150.00	\$1,700.00	\$52,700.0		
Furnish and Install 8-inch Inside Manhole Drop	5	VF	\$120.00	\$600.00	\$175.00	\$875.00	\$150.00	\$750.00	\$120.00	\$600.00	\$100.00	\$500.00	\$100.00	\$500.00	\$72.00	\$360.0		
Connections	3	VF	\$120.00	\$600.00	\$175.00	\$875.00	\$150.00	\$750.00	\$120.00	\$600.00	\$100.00	\$500.00	\$100.00	\$300.00	\$72.00	\$300.0		
Furnish and Install 12-inch Inside Manhole Drop Connections	5	VF	\$215.00	\$1,075.00	\$225.00	\$1,125.00	\$200.00	\$1,000.00	\$250.00	\$1,250.00	\$250.00	\$1,250.00	\$150.00	\$750.00	\$140.00	\$700.0		
Excavation of Unsuitable Material and Replacement	30	CY	\$25.00	\$750.00	\$40.00	\$1,200,00	\$35.00	\$1.050.00	\$40.00	\$1,200.00	\$30.00	\$900.00	\$50.00	\$1,500.00	\$20.00	\$600.0		
Backfill - Sewer			\$1.00	\$30.00	\$100.00	\$3,000.00	\$200.00	\$6,000.00	\$150.00	\$4,500.00	\$120.00	\$3,600.00	\$200.00	\$6,000.00	\$100.00	\$3,000.0		
50 Trench Ledge Excavation - Sewer 51 Furnish and Install Trench Pipe Insulation - Sewer	30 251	CY LF	\$3.50	\$878.50	\$4.00	\$1,004.00	\$200.00	\$753.00	\$150.00	\$1,004.00	\$120.00 \$75.00	\$18,825.00	\$200.00	\$5,020.00	\$100.00	\$2,510.0		
52 Recommection to Existing Structures	1	EA	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$2,000.00	\$2,000.00	\$25,000.00	\$25,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.0		
53 Horizontal Direction Drill of Sewer Siphon	600	LF	\$90.00	\$54,000.00	\$170.00	\$102,000.00	\$200.00	\$120,000.00	\$100.00	\$60,000.00	\$105.00	\$63,000.00	\$64.00	\$38,400.00	\$50.00	\$30,000.0		
54 Removal and Disposal of Existing Manhole Structures	1	EA	\$500.00	\$500.00	\$500.00	\$500.00	\$750.00	\$750.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	\$400.00	\$400.00	\$430.00	\$430.0		
Furnish and Install 8-inch PVC Gravity Sewer Pipe -	1,920	LF	\$74.00	\$142,080.00	\$85.00	\$163,200.00	\$85.00	\$163,200.00	\$85.00	\$163,200.00	\$115.00	\$220,800.00	\$102.00	\$195,840.00	\$54.00	\$103,680.0		
Ineligible for EDA Funding Furnish and Install 6-inch Sanitary Service Connections																		
with the Right-of-way - Ineligible for EDA Funding	850	LF	\$73.00	\$62,050.00	\$45.00	\$38,250.00	\$55.00	\$46,750.00	\$60.00	\$51,000.00	\$50.00	\$42,500.00	\$98.00	\$83,300.00	\$47.00	\$39,950.0		
Furnish and Install 4-foot Diameter Sewer Manholes - Ineligible for Funding	76	VF	\$325.00	\$24,700.00	\$375.00	\$28,500.00	\$350.00	\$26,600.00	\$315.00	\$23,940.00	\$275.00	\$20,900.00	\$300.00	\$22,800.00	\$310.00	\$23,560.0		
Furnish and Install Sewer Manhole Rames and Covers -			01.100.00	611.000.00	4700.00	47.000.00	\$ 550 AA	\$ 500 00	01.050.00	\$10.500.00	#2 000 00	***	A.550.00	0.5.500.00	A1 700 00	\$17.000 O		
Ineligible for Funding	10	EA	\$1,100.00	\$11,000.00	\$700.00	\$7,000.00	\$650.00	\$6,500.00	\$1,050.00	\$10,500.00	\$2,000.00	\$20,000.00	\$650.00	\$6,500.00	\$1,700.00	\$17,000.0		
Furnish and Install 8-inch Inside Manhole Drop Connections - Ineligible for Funding	9	VF	\$120.00	\$1,080.00	\$175.00	\$1,575.00	\$150.00	\$1,350.00	\$120.00	\$1,080.00	\$100.00	\$900.00	\$100.00	\$900.00	\$72.00	\$648.0		
Excavation of Unsuitable Materials and Replacement	20	CV	\$24.00	\$480.00	\$30.00	\$600.00	\$35.00	\$700.00	\$40.00	\$800.00	\$30.00	\$600.00	\$50.00	\$1,000.00	\$20.00	\$400.0		
Backfill - Ineligible for Funding		CY		,	,	,	,	,	' ' ' ' '	,	,	,	,	, , ,	,			
60 Trench Ledge Excavation - Ineligible for Funding	20	CY	\$1.00	\$20.00	\$100.00	\$2,000.00	\$200.00	\$4,000.00	\$150.00	\$3,000.00	\$75.00	\$1,500.00	\$200.00	\$4,000.00	\$100.00	\$2,000.0		
Subtotal Sanitary Sewer Items 38-60			 	\$1,233,975.50		\$1,758,329.00		\$1,394,933.00		\$1,391,744.00		\$2,816,395.00		\$1,759,180.00		\$1,154,884.0		
Water Distribution																		
61 Furnish and Install 6-inch Ductile Iron Water Main	20	LF	\$60.00	\$1,200.00	\$30.00	\$600.00	\$90.00	\$1,800.00	\$80.00	\$1,600.00	\$20.00	\$400.00	\$90.00	\$1,800.00	\$110.00	\$2,200.0		
62 Furnish and Install 8-inch Ductile Iron Water Main	266	LF	\$98.50	\$26,201.00	\$150.00	\$39,900.00	\$135.00	\$35,910.00	\$80.00	\$21,280.00	\$50.00	\$13,300.00	\$100.00	\$26,600.00	\$130.00	\$34,580.0		
63	8,700	LF	\$80.00	\$696,000.00	\$65.00	\$565,500.00	\$65.00	\$565,500.00	\$87.00	\$756,900.00	\$65.00	\$565,500.00	\$112.00	\$974,400.00	\$49.00	\$426,300.0		
Furnish and Install 10-inch Ductile Iron Water Main			-	·												·		
64 Furnish and Install 12 inch Dustile Ivan Water Main	20	LF	\$91.00	\$1,820.00	\$65.00	\$1,300.00	\$325.00	\$6,500.00	\$95.00	\$1,900.00	\$95.00	\$1,900.00	\$122.00	\$2,440.00	\$210.00	\$4,200.0		
Furnish and Install 12-inch Ductile Iron Water Main 65 Furnish and Install 1-inch Copper Service Pipe	2,500	LF	\$65.00	\$162,500.00	\$10.00	\$25,000.00	\$60.00	\$150,000.00	\$50.00	\$125,000.00	\$5.00	\$12,500.00	\$52.00	\$130,000.00	\$53.00	\$132,500.0		
66 Furnish and Install 8-inch Gate Valves	6	EA	\$1,905.00	\$11,430.00	\$1,200.00	\$7,200.00	\$2,100.00	\$12,600.00	\$1,500.00	\$9,000.00	\$3,000.00	\$18,000.00	\$2,500.00	\$15,000.00	\$1,600.00	\$9,600.0		
67 Furnish and Install 10-inch Gate Valves	26	EA	\$2,550.00	\$66,300.00	\$1,800.00	\$46,800.00	\$2,900.00	\$75,400.00	\$2,150.00	\$55,900.00	\$3,500.00	\$91,000.00	\$3,000.00	\$78,000.00	\$2,300.00	\$59,800.0		
68 Removal and Disposal of Out-of-Service Existing Pipes	100	LF	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$25.00	\$2,500.00	\$5.00	\$500.00	\$25.00	\$2,500.00	\$15.00	\$1,500.00	\$20.00	\$2,000.0		
Excavastion of Unsuitable Material and Replacment Backfill - Water	50	CY	\$25.00	\$1,250.00	\$0.01	\$0.50	\$35.00	\$1,750.00	\$40.00	\$2,000.00	\$30.00	\$1,500.00	\$50.00	\$2,500.00	\$20.00	\$1,000.0		
70 Trench Ledge Excavation - Water	50	CY	\$1.00	\$50.00	\$75.00	\$3,750.00	\$200.00	\$10,000.00	\$150.00	\$7,500.00	\$50.00	\$2,500.00	\$200.00	\$10,000.00	\$100.00	\$5,000.0		
71 Furnish and Install Pipe Trench Insulation - Water	40	LF	\$3.50	\$140.00	\$4.00	\$160.00	\$5.00	\$200.00	\$4.00	\$160.00	\$50.00	\$2,000.00	\$20.00	\$800.00	\$10.00	\$400.0		
Furnish and Install 1-inch Corporation and Service Setup	100	EA	\$810.00	\$81,000.00	\$1,450.00	\$145,000.00	\$1,600.00	\$160,000.00	\$425.00	\$42,500.00	\$1,200.00	\$120,000.00	\$500.00	\$50,000.00	\$280.00	\$28,000.0		
Assembly 73 Furnish and Install Hydrant Assemblies	21	EA	\$5,930.00	\$124,530.00	\$5,000.00	\$105,000.00	\$5,600.00	\$117,600.00	\$5,500.00	\$115,500.00	\$4,800.00	\$100,800.00	\$7,500.00	\$157,500.00	\$4,800.00	\$100,800.0		
Furnish and Install Hydrant Assembles Furnish, Install, and Maintain Temporary Water Main						. ,		·	. ,	. ,	. ,		. ,					
during Construction	4,285	LF	\$15.00	\$64,275.00	\$18.00	\$77,130.00	\$11.60	\$49,706.00	\$20.00	\$85,700.00	\$20.00	\$85,700.00	\$10.00	\$42,850.00	\$26.00	\$111,410.0		
75 Horizontal Direction Drill of Water Main	605	LF	\$153.00	\$92,565.00 \$1,330,761.00	\$165.00	\$99,825.00	\$300.00	\$181,500.00	\$135.00	\$81,675.00	\$170.00	\$102,850.00	\$120.00	\$72,600.00 \$1,565,990.00	\$130.00	\$78,650.0		
				\$1,330,761,00		\$1,118,665.50		\$1,370,966.00	1	\$1,307,115.00	II .	\$1,120,450.00	1	\$1.565.000.00		\$996,440.0		
Subtotal Water Distribution Items 61-75 TOTAL BASE BID AMOUNT ITEMS (1 THROUG	TH 75)			\$4,412,131.18		\$4,917,187.50		\$4,756,385.50		\$4,994,361.25		\$5,881,404.00		\$5,754,869.00		\$4,115,657.		

Page 2 of 4

					BIDDER'S NA	AME					BIDDER'S NA	ME		BIDDER'	S NAME	
			D & C Const	ruction Co.	J.P. Cardi	illo & Son	Jamco Ex	cavators	John Lyma	nn & Sons	N. Granese	& Sons, Inc.	Sargent Cor	poration	SUR Cons	struction
QUANTITIES									į			· · · · · · · · · · · · · · · · · · ·				
Item	Qty.	UNIT	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID
BID ALTERNATE A		1														
A-1 Furnish and Install 6-inch PVC Water Main	20	LF	\$50.00	\$1,000.00	\$15.00	\$300.00	\$7.50	\$150.00	\$70.00	\$1,400.00	\$12.00 \$44.00	\$240.00	\$83.00	\$1,660.00	\$95.00	\$1,900.00
A-2 Furnish and Install 8-inch PVC Water Main A-3 Furnish and Install 10-inch PVC Water Main	266 8,700	LF LF	\$84.00 \$65.00	\$22,344.00 \$565,500.00	\$135.00 \$50.00	\$35,910.00 \$435,000.00	\$9.00 \$11.00	\$2,394.00 \$95,700.00	\$70.00 \$70.00	\$18,620.00 \$609.000.00	\$44.00 \$56.00	\$11,704.00 \$487,200.00	\$93.00 \$103.00	\$24,738.00 \$896,100.00	\$115.00 \$34.00	\$30,590.00 \$295,800.00
A-4 Furnish and Install 10-inch PVC Water Main A-4 Furnish and Install 12-inch PVC Water Main	20	LF	\$77.00	\$1,540.00	\$65.00	\$1,300.00	\$11.00	\$280.00	\$75.00	\$1,500.00	\$85.00	\$1,700.00	\$103.00	\$2,260.00	\$195.00	\$3,900.00
Deduct Items 61-64 from Base Bid	20		\$77.00	\$725,221.00	\$65.55	\$607,300.00	\$11.00	\$609,710.00	472.00	\$781,680.00	\$65.66	\$581,100.00	\$115.00	\$1,005,240.00	Ψ195.00	\$467,280.00
TOTAL BID ALTERNATE A				\$590,384.00		\$472,510.00		\$98,524.00		\$630,520.00		\$500,844.00		\$924,758.00		\$332,190.00
BID ITEMS 61-64 LESS BID ALTERNATE A				\$134,837.00		\$134,790.00		\$511,186.00		\$151,160.00		\$80,256.00		\$80,482.00		\$135,090.00
(DIFFERENTIAL)				\$134,837.00		\$134,790.00		\$511,180.00		\$151,160.00		\$80,250.00		\$80,482.00		\$135,090.00
TOTAL BASE BID LESS ALTERNATE A DIFFERENTIAL				\$4,277,294.18		\$4,782,397.50		\$4,245,199.50		\$4,843,201.25		\$5,801,148.00		\$5,674,387.00		\$3,980,567.50
BID ALTERNATE B																
B-1 Mobilization and Demobilization	1	LS	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$1,000.00	\$1,000.00	\$30,000.00	\$30,000.00	\$2,500.00	\$2,500.00
B-2 Flaggers for Traffic Control	265	HRS	\$45.00	\$11,925.00	\$30.00	\$7,950.00	\$40.00	\$10,600.00	\$26.00	\$6,890.00	\$45.00	\$11,925.00	\$28.00	\$7,420.00	\$40.00	\$10,600.00
B-3 Traffic Regulation and Control	1	LS	\$4,000.00	\$4,000.00	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$18,000.00	\$18,000.00	\$500.00	\$500.00
B-4 Removal and Disposal of Pavement and Earth Excavation	3,655	SY	\$3.60	\$13,158.00	\$2.00	\$7,310.00	\$4.50	\$16,447.50	\$5.00	\$18,275.00	\$3.00	\$10,965.00	\$1.00	\$3,655.00	\$2.00	\$7,310.00
B-5 Reclaim Pavement, 12-inch Depth	3,655	SY	\$1.71	\$6,250.05	\$6.50	\$23,757.50	\$0.90	\$3,289.50	\$1.25	\$4,568.75	\$3.00	\$10,965.00	\$4.00	\$14,620.00	\$2.00	\$7,310.00
B-6 Furnish and Install Hot Bituminous Pavement: Machine	831	TON	\$72.00	\$59,832.00	\$80.00	\$66,480.00	\$60.00	\$49,860.00	\$72.00	\$59,832.00	\$75.00	\$62,325.00	\$85.00	\$70,635,00	\$75.00	\$62,325.00
Placed Furnish and Install Hot Bituminous Pavement: Hand				. ,	,	, ,		·		. ,		,	, , , , , ,	, ,	, , , , ,	
B-7 Placed Placed Parents and Install Hot Bituminous Pavement: Hand	140	TON	\$150.00	\$21,000.00	\$150.00	\$21,000.00	\$126.00	\$17,640.00	\$150.00	\$21,000.00	\$80.00	\$11,200.00	\$150.00	\$21,000.00	\$100.00	\$14,000.00
B-8 Furnish and Install Stop Bars	110	LF	\$1.75	\$192.50	\$1.75	\$192.50	\$9.00	\$990.00	\$6.00	\$660.00	\$6.00	\$660.00	\$5.00	\$550.00	\$1.50	\$165.00
B-9 Furnish and Install 4-inch Wide Pavement Striping	1,700	LF	\$0.17	\$289.00	\$0.20	\$340.00	\$0.14	\$238.00	\$0.20	\$340.00	\$1.00	\$1,700.00	\$0.40	\$680.00	\$0.15	\$255.00
B-10 Furnish and Install 2-inch Temporary Pavement Patch	1,800	LF	\$13.00	\$23,400.00	\$16.00	\$28,800.00	\$12.60	\$22,680.00	\$20.00	\$36,000.00	\$15.00	\$27,000.00	\$1.00	\$1,800.00	\$20.00	\$36,000.00
B-11 Loam & Seed	578	SY	\$4.25	\$2,456.50	\$9.00	\$5,202.00	\$4.50	\$2,601.00	\$6.00	\$3,468.00	\$6.00	\$3,468.00	\$8.00	\$4,624.00	\$3.00	\$1,734.00
B-12 Furnish and Install Pipe Trench Insulation B-13 Furnish and Install 6-inch PVC Water Main	11 20	LF LF	\$3.50 \$50.00	\$38.50 \$1,000.00	\$4.00 \$15.00	\$44.00 \$300.00	\$2.00 \$81.00	\$22.00 \$1,620.00	\$4.00 \$70.00	\$44.00 \$1,400.00	\$50.00 \$12.00	\$550.00 \$240.00	\$20.00 \$83.00	\$220.00 \$1,660.00	\$10.00 \$95.00	\$110.00 \$1,900.00
B-14 Furnish and Install 8-inch PVC Water Main	100	LF	\$84.00	\$8,400.00	\$135.00	\$13,500.00	\$112.00	\$11,200.00	\$70.00	\$7,000.00	\$44.00	\$4,400.00	\$93.00	\$9,300.00	\$115.00	\$1,500.00
B-15 Furnish and Install 10-inch PVC Water Main	1,700	LF	\$65.00	\$110,500.00	\$50.00	\$85,000.00	\$58.00	\$98,600.00	\$70.00	\$119,000.00	\$56.00	\$95,200.00	\$103.00	\$175,100.00	\$34.00	\$57,800.00
B-16 Furnish and Install 12-inch PVC Water Main	20	LF	\$77.00	\$1,540.00	\$65.00	\$1,300.00	\$293.00	\$5,860.00	\$75.00	\$1,500.00	\$85.00	\$1,700.00	\$113.00	\$2,260.00	\$195.00	\$3,900.00
B-17 Furnish and Install 1-inch Copper Service Pipe	297	LF	\$65.00	\$19,305.00	\$10.00	\$2,970.00	\$54.00	\$16,038.00	\$50.00	\$14,850.00	\$5.00	\$1,485.00	\$52.00	\$15,444.00	\$53.00	\$15,741.00
B-18 Furnish and Install 8-inch Gate Valves	2	EA	\$1,905.00	\$3,810.00	\$1,200.00	\$2,400.00	\$1,890.00	\$3,780.00	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$1,600.00	\$3,200.00
B-19 Furnish and Install 10-inch Gate Valves	6	EA	\$2,550.00	\$15,300.00	\$1,800.00	\$10,800.00	\$2,610.00	\$15,660.00	\$2,150.00	\$12,900.00	\$3,500.00	\$21,000.00	\$3,000.00	\$18,000.00	\$2,300.00	\$13,800.00
B-20 Furnish and Install 1-inch Corporation and Service Setup Assembly	15	EA	\$810.00	\$12,150.00	\$1,450.00	\$21,750.00	\$1,260.00	\$18,900.00	\$425.00	\$6,375.00	\$1,200.00	\$18,000.00	\$500.00	\$7,500.00	\$280.00	\$4,200.00
B-21 Furnish and Install Hydrant Assemblies	5	EA	\$5,930.00	\$29,650.00	\$5,000.00	\$25,000.00	\$5,040.00	\$25,200.00	\$5,500.00	\$27,500.00	\$4,800.00	\$24,000.00	\$7,500.00	\$37,500.00	\$4,800.00	\$24,000.00
B-22 Furnish, Install and Maintain Temporary Water Main	1,700	LF	\$15.00	\$25,500.00	\$18.00	\$30,600.00	\$9.80	\$16,660.00	\$20.00	\$34,000.00	\$20.00	\$34,000.00	\$10.00	\$17,000.00	\$26.00	\$44,200.00
During Construction TOTAL BID ALTERNATE B	1,700		\$15.00	\$389,696,55	\$10.00	\$365,296.00	\$7.00	\$343.886.00	Ψ20.00	\$397,602.75	\$20.00	\$348,783.00	\$10.00	\$461,968.00	\$20.00	\$323,050.00
TOTAL BASE BID LESS BID ALTERNATE A AND BID				\$389,090.33		\$305,290.00		\$343,880.00		\$397,002.75		\$348,783.00		\$401,908.00		\$323,050.00
ALTERNATE B:				\$3,887,597.63		\$4,417,101.50		\$3,901,313.50		\$4,445,598.50		\$5,452,365.00		\$5,212,419.00		\$3,657,517.50
BID ALTERNATE C																
C-1 Mobilization and Demobilization	1	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$2,000.00	\$2,000.00
C-2 Flaggers for Traffic Control	150	HRS	\$45.00	\$6,750.00	\$30.00	\$4,500.00	\$40.00	\$6,000.00	\$26.00	\$3,900.00	\$45.00	\$6,750.00	\$28.00	\$4,200.00	\$40.00	\$6,000.00
C-3 Traffic Regulation and Control Removal and Disposal of Pavement and Earth Excavation	1	LS	\$2,500.00	\$2,500.00	\$600.00	\$600.00	\$1,000.00	\$1,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00
C-4 Removal and Disposal of Favement and Earth Excavation - Ineligible for Funding	510	SY	\$3.60	\$1,836.00	\$2.00	\$1,020.00	\$3.60	\$1,836.00	\$5.00	\$2,550.00	\$3.00	\$1,530.00	\$1.00	\$510.00	\$2.00	\$1,020.00
C-5 Furnish and Install Crushed Gravel Aggregate Base -	110	CY	\$26.00	\$2,860.00	\$22.00	\$2,420.00	\$26.00	\$2,860.00	\$30.00	\$3,300.00	\$25.00	\$2,750.00	\$42.00	\$4,620.00	\$20.00	\$2,200.00
Ineligible for Funding Furnish and Install Hot Rituminous Payament - Machines			+		·	. ,		. ,		. ,	·			. ,		
C-6 Placed - Ineligible for Funding	300	TON	\$72.00	\$21,600.00	\$80.00	\$24,000.00	\$60.00	\$18,000.00	\$72.00	\$21,600.00	\$75.00	\$22,500.00	\$85.00	\$25,500.00	\$75.00	\$22,500.00
C-7 Furnish and Install Hot Bituminous Pavement - Hand	100	TON	\$150.00	\$15,000.00	\$150.00	\$15,000.00	\$126.00	\$12,600.00	\$150.00	\$15,000.00	\$80.00	\$8,000.00	\$150.00	\$15,000.00	\$100.00	\$10,000.00
Placed - Ineligible for Funding Furnish and Install 2-inch Temporary Payement Patch -				·				·							·	
C-8 Ineligible for Funding	1,920	LF	\$13.00	\$24,960.00	\$16.00	\$30,720.00	\$12.60	\$24,192.00	\$20.00	\$38,400.00	\$15.00	\$28,800.00	\$1.00	\$1,920.00	\$20.00	\$38,400.00
C-9 Furnish and Install 8-inch PVC Gravity Sewer Pipe - Ineligible for EDA Funding	1,920	LF	\$74.00	\$142,080.00	\$85.00	\$163,200.00	\$76.50	\$146,880.00	\$85.00	\$163,200.00	\$115.00	\$220,800.00	\$102.00	\$195,840.00	\$54.00	\$103,680.00
C-10 Furnish and Install 6-inch Sanitary Service Connections within the Right-of-Way - Ineligible for EDA Funding	850	LF	\$73.00	\$62,050.00	\$45.00	\$38,250.00	\$50.00	\$42,500.00	\$60.00	\$51,000.00	\$50.00	\$42,500.00	\$98.00	\$83,300.00	\$47.00	\$39,950.00
C-11 Furnish and Install 4-foot Diameter Sewer Manholes - Ineligible for Funding	76	VF	\$325.00	\$24,700.00	\$375.00	\$28,500.00	\$315.00	\$23,940.00	\$315.00	\$23,940.00	\$275.00	\$20,900.00	\$300.00	\$22,800.00	\$310.00	\$23,560.00
C-12 Furnish and Install Sewer Manhole Frames and Covers - Ineligible for Funding	10	EA	\$1,100.00	\$11,000.00	\$700.00	\$7,000.00	\$585.00	\$5,850.00	\$1,050.00	\$10,500.00	\$2,000.00	\$20,000.00	\$650.00	\$6,500.00	\$1,700.00	\$17,000.00
C-13 Furnish and Install 8-inch Inside Manhole Drop Connections - Ineligible for Funding	9	VF	\$120.00	\$1,080.00	\$175.00	\$1,575.00	\$155.00	\$1,395.00	\$120.00	\$1,080.00	\$100.00	\$900.00	\$100.00	\$900.00	\$72.00	\$648.00
C-14 Excavation of Unsuitable Material and Replacement	20	CY	\$24.00	\$480.00	\$30.00	\$600.00	\$31.50	\$630.00	\$40.00	\$800.00	\$30.00	\$600.00	\$50.00	\$1,000.00	\$20.00	\$400.00
Backfill - Ineligible for Funding C-15 Trench Ledge Excavation - Ineligible for Funding	20	CY	\$1.00	\$20.00	\$100.00	\$2,000.00	\$180.00	\$3,600.00	\$150.00	\$3,000.00	\$75.00	\$1,500.00	\$200.00	\$4,000.00	\$100.00	\$2,000.00
TOTAL BID ALTERNATE C			41.00	\$326,916.00	7-22-00	\$329,385.00	\$100.00	\$296,283.00	\$150.50	\$354,270.00	\$75.50	\$379,530.00	\$200.00	\$386,090.00	Ψ100.00	\$269,858.00
TOTAL BASE BID LESS BID ALTERNATE A, BID				\$3,560,681.63		\$3,749,996.50		\$3,605,030.50		\$3,611,968.50		\$4,652,247.00		\$3,982,053.00		\$3,190,559.50
ALTERNATE B AND BID ALTERNATE C:				φυ,υυυ,υσ1.υ3		φυ,/42,220.50		ψ ο,00ο,0ο 0.ο0		φυ,011,700.30		φ-1,002,247.00		φυ, 202,000.00		φυ,170,339.30
		1														

Page 3 of 4

			BIDDER'S NAME								BIDDER'S NAI	ME		BIDDER'S NAME		
UANTITIES			D & C Cons	truction Co.	J.P. Card	lillo & Son	Jamco Excavators		John Lyman & Sons		N. Granese & Sons, Inc.		Sargent Corporation		SUR Construction	
Item	Qty.	UNIT	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BID	UNIT AMT	BII
ID ALTERNATE D																
-1 Mobilization and Demobilization	1	LS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$14,000.00	\$14,000.00	\$1,000.00	\$1,000.00	\$30,000.00	\$30,000.00	\$1,500.00	\$
2 Flaggers for Traffic Control 3 Traffic Regulation and Control	320	HRS LS	\$45.00 \$4,000.00	\$14,400.00 \$4,000.00	\$30.00 \$300.00	\$9,600.00 \$300.00	\$40.00 \$1,000.00	\$12,800.00 \$1,000.00	\$26.00 \$3,500.00	\$8,320.00 \$3,500.00	\$45.00 \$1.000.00	\$14,400.00 \$1,000.00	\$28.00 \$5,000.00	\$8,960.00 \$5,000.00	\$40.00 \$500.00	\$1
	1			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,	. ,		, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , , ,	, , , , , , , ,	, , , , , , , , ,	1.7,	. ,	400000	
4 Removal and Disposal of Pavement and Earth Excavation	4,267	SY	\$3.60	\$15,361.20	\$2.00	\$8,534.00	\$3.60	\$15,361.20	\$5.00	\$21,335.00	\$3.00	\$12,801.00	\$1.00	\$4,267.00	\$2.00	
5 Reclaim Pavement, 12-inch Depth	4,267	SY	\$1.71	\$7,296.57	\$6.50	\$27,735.50	\$0.90	\$3,840.30	\$1.25	\$5,333.75	\$3.00	\$12,801.00	\$4.00	\$17,068.00	\$2.00	
Furnish and Install Hot Bituminous Pavement - Machine Placed	831	TON	\$72.00	\$59,832.00	\$80.00	\$66,480.00	\$60.00	\$49,860.00	\$72.00	\$59,832.00	\$75.00	\$62,325.00	\$85.00	\$70,635.00	\$75.00	\$
Furnish and Install Hot Bituminous Pavement - Hand Placed	140	TON	\$150.00	\$21,000.00	\$150.00	\$21,000.00	\$126.00	\$17,640.00	\$150.00	\$21,000.00	\$80.00	\$11,200.00	\$150.00	\$21,000.00	\$100.00	\$
Furnish and Install Stop Bars	80	LF	\$1.75	\$140.00	\$1.75	\$140.00	\$9.00	\$720.00	\$6.00	\$480.00	\$6.00	\$480.00	\$5.00	\$400.00	\$1.50	
9 Furnish and Install 4-inch Wide Pavement Striping	3,200	LF	\$0.17	\$544.00	\$0.20	\$640.00	\$0.14	\$448.00	\$0.20	\$640.00	\$1.00	\$3,200.00	\$0.40	\$1,280.00	\$0.15	
10 Furnish and Install 2-inch Temporary Pavement Patch	1,500	LF	\$13.00	\$19,500.00	\$16.00	\$24,000.00	\$12.60	\$18,900.00	\$20.00	\$30,000.00	\$15.00	\$22,500.00	\$1.00	\$1,500.00	\$20.00	
11 Loam & Seed	680	SY	\$4.25	\$2,890.00	\$9.00	\$6,120.00	\$4.50	\$3,060.00	\$6.00	\$4,080.00	\$6.00	\$4,080.00	\$8.00	\$5,440.00	\$3.50	
12 Furnish and Install Trench Pipe Insulation 13 Furnish and Install 6-inch PVC Water Main	10	LF LF	\$0.00 \$50.00	\$0.00 \$500.00	\$0.00 \$15.00	\$0.00 \$150.00	\$2.00 \$81.00	\$0.00 \$810.00	\$4.00 \$70.00	\$0.00 \$700.00	\$0.00 \$12.00	\$0.00 \$120.00	\$20.00 \$83.00	\$0.00 \$830.00	\$0.00 \$95.00	
4 Furnish and Install 8-inch PVC Water Main	50	LF	\$84.00	\$4,200.00	\$135.00	\$6,750.00	\$112.00	\$5,600.00	\$70.00	\$3,500.00	\$44.00	\$2,200.00	\$93.00	\$4,650.00	\$115.00	
15 Furnish and Install 10-inch PVC Water Main	1,550	LF	\$65.00	\$100,750.00	\$50.00	\$77,500.00	\$58.00	\$89,900.00	\$70.00	\$108,500.00	\$56.00	\$86,800.00	\$103.00	\$159,650.00	\$34.00	
16 Furnish and Install 12-inch PVC Water Main	0	LF	\$0.00	\$0.00	\$0.00	\$0.00	\$293.00	\$0.00	\$75.00	\$0.00	\$0.00	\$0.00	\$113.00	\$0.00	\$0.00	
17 Furnish and Install 1-inch Copper Service Pipe	510	LF	\$65.00	\$33,150.00	\$10.00	\$5,100.00	\$54.00	\$27,540.00	\$50.00	\$25,500.00	\$5.00	\$2,550.00	\$52.00	\$26,520.00	\$53.00	
18 Furnish and Install 8-inch Gate Valves	1	EA	\$1,905.00	\$1,905.00	\$1,200.00	\$1,200.00	\$1,890.00	\$1,890.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$1,600.00	
19 Furnish and Install 10-inch Gate Valves	4	EA	\$2,550.00	\$10,200.00	\$1,800.00	\$7,200.00	\$2,610.00	\$10,440.00	\$2,150.00	\$8,600.00	\$3,500.00	\$14,000.00	\$3,000.00	\$12,000.00	\$2,300.00	
Furnish and Install 1-inch Corporation and Service Setup Assembly	17	EA	\$810.00	\$13,770.00	\$1,450.00	\$24,650.00	\$1,260.00	\$21,420.00	\$425.00	\$7,225.00	\$1,200.00	\$20,400.00	\$500.00	\$8,500.00	\$280.00	
21 Furnish and Install Hydrant Assemblies	2	EA	\$5,930.00	\$11,860.00	\$5,000.00	\$10,000.00	\$5,040.00	\$10,080.00	\$5,500.00	\$11,000.00	\$4,800.00	\$9,600.00	\$7,500.00	\$15,000.00	\$4,800.00	
Furnish, Install and Maintain Temporary Water Main During Construction	1,700	LF	\$15.00	\$25,500.00	\$18.00	\$30,600.00	\$9.80	\$16,660.00	\$20.00	\$34,000.00	\$20.00	\$34,000.00	\$10.00	\$17,000.00	\$26.00	
OTAL BID ALTERNATE D			1	\$351,798.77		\$337,699.50		\$312,969.50		\$369,045.75		\$318,457.00		\$412,200.00		\$2
TTAL BASE BID LESS BID ALTERNATE A, BID .TERNATE B, BID ALTERNATE C AND BID .TERNATE D:				\$3,208,882.86		\$3,412,297.00		\$3,292,061.00		\$3,242,922.75		\$4,333,790.00		\$3,569,853.00		\$2,8
ID ALTERNATE E	1	1.0	£5,000,00	¢5 000 00	\$2,000,00	¢2,000,00	¢5,000,00	¢5,000,00	\$10,000,00	\$10,000,00	¢1,000,00	¢1,000,00	\$20,000,00	£20,000,00	¢1.700.00	
1 Mobilization and Demobilization 2 Flaggers for Traffic Control	320	LS HRS	\$5,000.00 \$45.00	\$5,000.00 \$14,400.00	\$8,000.00 \$30.00	\$8,000.00 \$9,600.00	\$5,000.00 \$40.00	\$5,000.00 \$12,800.00	\$10,000.00 \$26.00	\$10,000.00 \$8,320.00	\$1,000.00 \$45.00	\$1,000.00 \$14,400.00	\$30,000.00 \$28.00	\$30,000.00 \$8,960.00	\$1,700.00 \$40.00	\$
3 Traffic Regulation and Control	1	LS	\$4,000.00	\$4,000.00	\$300.00	\$300.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$500.00	•
Removal and Disposal of Pavement and Earth Excavation	2,933	SY	\$3.60	\$10,558.80	\$2.00	\$5,866.00	\$3.60	\$10,558.80	\$5.00	\$14,665.00	\$3.00	\$8,799.00	\$1.00	\$2,933.00	\$2.00	
Reclain Pavement, 12-inch Depth	2,933	SY	\$1.71	\$5,015.43	\$6.50	\$19,064.50	\$0.90	\$2,639.70	\$1.25	\$3,666.25	\$3.00	\$8,799.00	\$4.00	\$11,732.00	\$2.00	
Furnish and Install Hot Bituminous Pavement - Machine Placed	600	TON	\$72.00	\$43,200.00	\$80.00	\$48,000.00	\$60.00	\$36,000.00	\$72.00	\$43,200.00	\$75.00	\$45,000.00	\$85.00	\$51,000.00	\$75.00	;
Furnish and Install Hot Bituminous Pavement - Hand Placed	140	TON	\$150.00	\$21,000.00	\$150.00	\$21,000.00	\$126.00	\$17,640.00	\$150.00	\$21,000.00	\$80.00	\$11,200.00	\$150.00	\$21,000.00	\$100.00	
B Furnish and Install Stop Bars	20	LF	\$1.75	\$35.00	\$1.75	\$35.00	\$9.00	\$180.00	\$6.00	\$120.00	\$6.00	\$120.00	\$5.00	\$100.00	\$1.50	
Furnish and Install 4-inch Wide Pavement Striping	2,000	LF	\$0.17	\$340.00	\$0.20	\$400.00	\$0.14	\$280.00	\$0.20	\$400.00	\$1.00	\$2,000.00	\$0.40	\$800.00	\$0.15	
10 Furnish and Install 2-inch Temporary Pavement Patch 11 Loam & Seed	1,500 400	LF SY	\$13.00 \$4.25	\$19,500.00 \$1,700.00	\$16.00 \$9.00	\$24,000.00 \$3,600.00	\$12.60 \$4.50	\$18,900.00 \$1,800.00	\$20.00 \$6.00	\$30,000.00 \$2,400.00	\$15.00 \$6.00	\$22,500.00 \$2,400.00	\$1.00 \$8.00	\$1,500.00 \$3,200.00	\$20.00 \$3.50	
2 Furnish and Install Trench Pipe Insulation	0	LF	\$0.00	\$0.00	\$0.00	\$0.00	\$2.00	\$0.00	\$4.00	\$2,400.00	\$0.00	\$2,400.00	\$20.00	\$0.00	\$0.00	
3 Furnish and Install 6-inch PVC Water Main	10	LF	\$50.00	\$500.00	\$15.00	\$150.00	\$81.00	\$810.00	\$60.00	\$600.00	\$12.00	\$120.00	\$83.00	\$830.00	\$95.00	
4 Furnish and Install 8-inch PVC Water Main	50	LF	\$84.00	\$4,200.00	\$135.00	\$6,750.00	\$112.00	\$5,600.00	\$85.00	\$4,250.00	\$44.00	\$2,200.00	\$93.00	\$4,650.00	\$115.00	
5 Furnish and Install 10-inch PVC Water Main	1,000	LF	\$65.00	\$65,000.00	\$50.00	\$50,000.00	\$58.00	\$58,000.00	\$70.00	\$70,000.00	\$56.00	\$56,000.00	\$103.00	\$103,000.00	\$34.00	
6 Furnish and Install 12-inch PVC Water Main	0	LF	\$0.00	\$0.00	\$0.00	\$0.00	\$293.00	\$0.00	\$75.00	\$0.00	\$0.00	\$0.00	\$113.00	\$0.00	\$0.00	
7 Furnish and Install 1-inch Copper Service Pipe	420	LF	\$65.00	\$27,300.00	\$10.00	\$4,200.00 \$1,200.00	\$54.00 \$1,890.00	\$22,680.00	\$50.00 \$1,500.00	\$21,000.00 \$1,500.00	\$5.00 \$3,000.00	\$2,100.00	\$52.00 \$2,500.00	\$21,840.00	\$53.00	
8 Furnish and Install 8-inch Gate Valves 9 Furnish and Install 10-inch Gate Valves	5	EA EA	\$1,905.00 \$2,550.00	\$1,905.00 \$12,750.00	\$1,200.00 \$1,800.00	\$1,200.00	\$1,890.00	\$1,890.00 \$13,050.00	\$1,500.00	\$1,500.00	\$3,500.00	\$3,000.00 \$17,500.00	\$2,500.00	\$2,500.00 \$15,000.00	\$1,600.00 \$2,300.00	
Furnish and Install 1-inch Corporation and Service Setup							i i	·					i í			
Assembly Furnish and Install Hydrant Assemblies	14	EA EA	\$810.00 \$5,930.00	\$11,340.00 \$11,860.00	\$1,450.00 \$5,000.00	\$20,300.00 \$10,000.00	\$1,260.00 \$5,040.00	\$17,640.00 \$10,080.00	\$425.00 \$5,500.00	\$5,950.00 \$11,000.00	\$1,200.00 \$4,800.00	\$16,800.00 \$9,600.00	\$500.00 \$7,500.00	\$7,000.00 \$15,000.00	\$280.00 \$4,800.00	
Furnish Install and Maintain Tamporary Water Main												. ,				
During Construction TAL BID ALTERNATE E	885	LF	\$15.00	\$13,275.00 \$272,879.23	\$18.00	\$15,930.00 \$257,395.50	\$9.80	\$8,673.00 \$245,221.50	\$20.00	\$17,700.00 \$279,021.25	\$20.00	\$17,700.00 \$242,238.00	\$10.00	\$8,850.00 \$314,895.00	\$26.00	\$2
TAL BASE BID LESS BID ALTERNATE A, BID TERNATE B, BID ALTERNATE C, BID ALTERNATE BID ALTERNATE E				\$2,936,003.63		\$3,492,621.50		\$3,046,839.50		\$3,443,261.50		\$4,512,140.00		\$4,099,234.00		\$2,8

^{*} Item 16 has been adjusted to reflect change from 2200 square yards to 4200 square yards as per Addendum No. 2

Used incorrect deduction for Alternate A throughout

Page 4 of 4